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Instructions :

(1)
(ii)
(iii)
(iv)
(v)
(vi)

(vit)

(viii) Question No. 17 is related to fill up the map of world.

120

All questions are compulsory. :
Question Nos. 1 to 4 are objective type. Each question carries 5 marks.
Internal options are given in Question Nos. 5 to 18.

Question Nos. 5 to 7 are assigned 2 marks cach and answer should be given in
30 words.

Question Nos. 8 to 10 carry 3 mdrks each and answer should be given in
75 words.

Question Nos. 11 to 15 carry 4 marks each and answer should be gwen in
120 words.

Question Nos. 16 to 18 carry § marks each and answer should be given in
150 words. '
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Choose the correct option :
- (A) Ku. E. C. Semple is geographer of -

(i) China - (ii) America
(iii) Japan (i) Russia
(B) From polulation point of view the first position in the world is -
(i) India : (ii) America '
(iii) China | ~ (iv) Japan-
(C) Maximum Tea production State in India is -
(1) Kerla | (i) Uttar Pradesh
(iii) West Bengal (iv) -Assam
(D) Which year, first communication satellite of India was launched in space ?
G 1975 o (i) 1977 |
Gii) 1979 Gv) 1980
(E) . is called Manchester of India.
(i) Delhi : (ii) Ahmedabad

(ili) Mumbai (iv) Nagpur
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Fill in the blanks :

(1) The bigest Industrial area in India is

(i) Multiformity and _____ is in India.

() World's longest rail route 1s .

(iv) —_ is called Jack of all trades'.

(V) e is fast and costly mcans of transport.

g Y g o I A 1x5=5
(i) dlterny & PR T B wielas dET B ISR § 7

() s ¥ yald B STEEEN U 9 TN HE-9T ¥ 7

(i) W ¥ uad @) g uEyesT ee-d ¥ 7

Gv) W ) B e ¥ 7

(v) - W gy anafa & & ¥ ?

. Answer in ont¢ senlvnee or word :

() ~ Which farm of tamil Nadu is example for cultural plan ?

(i) Which State huy the fowest population density in India ?

(i) Which 1s the longest pas pipeline in India ‘7
(iv) What is the Stum ¥

(v) Which settlement in Agriculture based settlement ?

et R 1x5=5
(&) uded R (1) Agad oY i

@ wiehind (i) chisEr

@ it 4» (i) sty wgwer

@ wba wtomw (iv) i

(3 WU (v) iy

(vh "1y ugno
Match the fbllowing columns :

(@)  Tourism ety (i) ULNA,
(b)y Black suif @)  Kuandla
(¢) Farmsteml - (311)  Noise polintion
() Tide pont (iv) Nainital
() Deafness (v) Cotton

(vi) Air pullution
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5 9Mg e & orf fefag ' 2
Write the meaning of human geography. '
| sy / OR
qeE Wi b Rl TR ywdeel & AW fdfan |

Write names of any four human geographers.

6 wArim giftam & & fadwad fofge 1 - 2
Write any two characteristics of urban settlement. ' '
st / OR
i gt § @ wkier @ fax semEg o

Draw the figure of linear patiern of rural settlement.

7 e WG & B I BRY (aiEy | | 2
Write any two causes of water pollution. '
s / OR
Tl wEu Faem & @€ @ sua fafee o

Write any two remedies of urban waste disposal.

8 o gumE B w3 dF wran fafeg | 3
Writc any three problems of water resources. :
gT / OR

gi daad deen & B 9w stw e

Write any three aims of third five year plan.

9 UE FW IO W HE AW agwand g | 3

Write any three characteristics of good port.
ya / OR

e b RRel s B B A Rt e

Write any three characteristics of foreign trade of India.

10 agaaﬁﬂaaﬁéeﬁamﬁvﬁtaql o | .3

Write any three importance of Telévision.
sga /. OR

%aqham'aaaagmqmm1

Write any three importance of rail transport.

120/ E-224 | 4 PT.O.




N i gdt o ¥ qee Sde = o S ¥ ? B A s Refeg 1 4
Why is compact population in South-East Asia ? Write any four causes.
Jyar / OR

it Wi’m sreEn & o fafEm 1 e
Distinguish between rural population and urban population. - » |
12 7% i pfy PRy wed ¥ 7 g T wuel B SARA BT ¥ P 4
What is the truck farming ? Which ¢rops are produced in this farming ?
s/ OR ;
FAT Te U geq weT F ot RRgw | |
Distinguish between cottage industry and large industry. ,5
_ | _
13 7 e o @ R @ et Ym A T 4
Why is Trans Siberian railway called Siberian's life line ? é -
s / OR = § | '
T uﬁaﬁ & 91 #ew fafag 1 . ! |
Write any four importance of water transport. : '|-
14 Wna § waen ghe F B aw e fifeg 4
Write any four causes of population growth in India. o
FEr / OR o L
WRa ¥ ey agEE @ e 9n et fafae | |
Wrile any four problems of Tribe Caste Community in India. :
15 wﬁ@mmmmasmmm; ) 4
Write any four causes for Cotton Industry developed in Mumbai.
| s / OR | | |
Al & W swww @ fakeg 1 . i |
Write any four indirect advantages of forest. : : |
16 Haatrats it & wwrd B @l @i 1 _ | 5
Describe the types of subsistence agriculture. '|
s / OR B -

Wﬁ@ﬁwm_%ﬁm%ﬁﬁmw:- | |

Write any five causes of cotton textile Industry developed in Japan. ,
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(1) W HAfEyw t@mm (2) 9E W

() Afwdr [ @) s
(5) aenfr g o
Show the following in the world map :
(1) Trans Canadian Railway (2) Arabian Séa
(3) Tokyo = . (4) New Zeeland
(5) Tasmania Island |

| f 3rrt / OR
fPrafifag @ e afes & qomed -
(1) 7 e Y () T
3) e :; (4) BT
(5) wet ¥ buersT wewn |

Show the following in the world map :

(1) Trans Indian_;R'ailway - (2) Panama Canal
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(3) Shri Lanka . (4) Kolkata
(5) London to Captown Waterway .

YRE ¥ O I ¥ R emavas dvifs qed fafae | (ﬁé!ﬁﬂ) s
Write the geographical conditions that are required for tea production in India.
(any five) |

- | @ /OR
Wl Y B e e @ T AR |

Describ¢ any five problems of Indian agriculture.

120
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